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Calculations with Standard Form
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Withou using a caleulator, work out the following calculations.
Express your answers in standard form.
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Giventhat x=2x107 and y=

28x10%) + (3 x10°)
+(537x10%)
4x10%) x (2 x 10%)
8x10%) + (4x10%)
x(2x10*)
64 x10°) + (1.6 x 10°)
x(4x107)
5x107%) x(2x107?)

63x10°

6.5 x10*

25x10°

4x107*
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(28x10*) - (3x10%)
(9.7%10%) + (03 x 10%)
(5%10*)x (3x 10%)

(15%10%) x (2 x 10°)
(9x10%) = (3x10%)

(84 x10°) + (2.1x10°)
(4107 2 x10)
(24x107) x (5x 107)

+(8x107%) as a single number expressed in standard form.

7x107*, express x + 8y in standard form.

Express 107°~ (2.5 x107) in standard form.

Given that x=32x10° and y =5 x 10, express in standard form:
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In the formula R = Eﬂl substitute

M=6x10*, E=45x10°, I=4x10*

and evaluate R, giving your answer in standard form.

The radius of a circular micro-organismis 2.8 x 10~ em.

Caleulate the circumference and arca of the micro-organism, giving your answer
in standard form.

Evaluate cach of the following cxpressions, giving your answers in standard
form.

(@ 639°x78* ) 163*-3.65°

© 781x10° - 0132 @  63x10" x 89

() 994x102+235% ® |362x107*




image3.png
10.*

11.

(7 hg o 10-6 -4
@ 45x10°x (726x10°¢ @ SZXI0

226 x10*

EE—

[72x10° ] 5 e
o ) [(412%x10°) « (625 x 10%)|

\ 431x10° o [ )+ J
Giventhat 23X124 _ 15 ithout using a caleulator find the value of

51%31
153 x1.24
51x3.1

and express it in standard form.

If x=3.6x107%, cvaluate and express your answer in standard form:

@ 4x'+x ® Jx+l

Given that x = 5 x 10°, find the valuc of each of the following, giving your
answer in standard form.

@ 5 ® © 2 @

X
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12.

13.

14.

Work out 4 x 10° — 4 x 10°. Give your answer in standard form.

(LON)
Saturn is approximately 1.43 x 10° km from the Sun.
Venus is approximately 1.08 x 10° km from the Sun.
How much further from the Sun s Saturn than Venus?
Give your answer in standard form.
(SEG)

Alight year is the distance travelled by light in 365 days.

The speed of lightis 3.9 x 10° kilometres per second.

(2)  Calculate the number of kilometres in one light year.
Give your answer in standard form.

(b)  The distance to the nearest staris 4.0 x 10** kilometres.
How many light years is this?

() One kilometre = 0.625 miles.

Calculate the speed of light in miles per second.
(SEG)
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15.

16.

17.

The mass, M, of the planct Mars is 6.45 x 10 kg.
The planct is a sphere with radius, r, equal to 2.28 x 10" m.

Use this formula to find its density:

Density = 4M

3
—rr
3

Express your answer in standard form, correct to three significant figures.
(SEG)

The surface area of the Earth is approximately 1.971 x 10° square miles.
The surface area of the Earth covered by water is approximately

1.395 x 10° square miles.
(®)  Caleulate the surface arca of the Earth not covered by water.

Give your answer in standard form.

b)  What percentage of the Earth's surface is not covered by water?
(SEG)

The mass of aneutron is 1675 x 107 grams. Caleulate the total mass of
1500 neutrons.

Give your answer in standard form.

(LON
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18.

19.

(@ () Wite sixty thousand in standard form.

(i)  Hence, or otherwise, find the value of the square of sixty thousand.

Give your answer in standard form.

(b)  Workout 43x107+27 x1072.

Give your answer in standard form.

Some large numbers are written below.

1 million = 10°
1billion = 10°
1 tillion = 10%

() How many millions arc there in one trillion?
(b)  Write 8 billion in standard form.
(¢)  Work out 8 billion multiplied by 3 trillion.

Give your answer in standard form.

(OCR)

(AQA)





Calculations with Standard Form
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